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Huan buys a hot chocolate for £2 and 60p.
He pays with a £5 note.
How much change does he get?

Dani buys a milkshake.
She pays with a £5 note.
She gets £2 and 60p change.

How much did the

hake cost?
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A train ticket costs £3 and 60p.

A bus ticket costs £2 and 85p.

Mr Khan buys a train and a bus ticket.
He pays with a £10 note.

How much change does he get?
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Tommy buys a comic for £3 and 25p. @
He pays with a £5 note.

How much change will he receive?
Use the part-whole model to help you.
Use a part-whole model to solve the problem.

+ Eva buys a train for £6 and 55p. She pays with a £10 note.
How much change will she receive?
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Dora spends £7 and 76p on a birthday
cake.

She pays with a £10 note.
How much change does she get?

The shopkeeper gives her six coins for
her change.
What coins could they be?




